
GM  U3D2     Name:_______________________________ 

simplify 

Let x = 2, y = 3, z = 2 ½  

Substitute and simplify 

1)  𝑥! + 𝑦𝑧 

2)  𝑧(𝑦 + 𝑥!) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 17. (–4f   3)(–3m 3) = 18. (2c 2d 2)(–5cd 4) =

 19. (4c 2)(–5c 7) = 20. (3x)(–4y 2)(6x 3y) =

6.   d 3 ___ 
d 2

   =

8.   
–54c 2d 4 _______ –8cd

   =

10.   45k 7r 3 ______ –3k 5
   =

12.   21k 9 ________ 
(3k)(7k 4)

    =

–

Elementary Algebra Skill

Applying the Exponent Rule for Dividing Same Bases
Simplify.  Your answer should contain only positive exponents.
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Problem Solving 
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ACTIVITY 127   Word Problems With 
Equations

Write an equation for each description. Solve.

  1. Ann is 27 years less than twice Amy’s age. Amy is 28 years older than her daughter, Kel-

sie, who is 10. How old is Ann?

 Equation:  Answer: 

  2. Keith is 3 years older than Dale, who is 5 years more than half of his Uncle Bill’s 

age. Uncle Bill is 84. How old is Keith?

 Equation:  Answer: 

  3. The combined age of Sheryl’s three daughters is exactly  of her own age. Her twins are 

6. Her oldest daughter is  of the twins’ combined ages. How old is Sheryl?

 Equation:  Answer: 

ACTIVITY 128   Word Problems With 
Equations

Write a word problem for each equation. Then find the value of y in each equation.

  1. (15y – 6) = 150 

 y = 

  2. 32y = 96 •  • 52 

 y = 

  3. [2.95(365 – 30)] • 0.04 = y  

 y = 
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